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srdsafldar Gmerpaiss abg euflmseus sribgame

A) g§hb(8ésrrro°ol.5]u.1rrso1rr_ B) yGgmeer

C) QGgrrerSaSrr D) @eubgpet agiapfldeamen.
Limbless amphibians belong to the order |
A} Gymnophiona B) Urodela

C) Procoela D}  None of these.
élmr'rmemmj)@s&r QuIrheTed 6T6TLIgS

Al SCeurC@emis B} CuelCur@emils
) HNCLAusv D)  ewCurelder.
Golden age of Reptiles is

A) Mesozoic B}  Paleozoic

C) Cretaceous - D) Miocene.

SpoaesoI euDDIeT 78 LSS (PGWTS LDR ?

- A) e mdCur Bl guGLAéen

C)  bléveusin | D) .
Among the following, which is not a flightless bird ?
A) Struthio B) Apteryx
C) Milvus | , . D) Rhea.

Spsaacocuppet ag sflurs’ Qur@bSysrerg 2

1,0. 2.8 2,0, 3 383 ]
—_—_— =292 B = 28-
A 1013 B! B T 23 cplue
3, 1.3, 1 | 0.0.3.3
- —— = 30- D = 32-gafleu.
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Which one of the following is correctly matched ?

l| . 2I
A) 1023 = 22-Cat
1,0.1,3
.3, 1,3, 1
C = 30-Shee
) 3,1, 2.1 P

" B)

D}

= 28-Rabbit

= 32-5quirrel

@bl sresi_mimad ( ayCarmeray ) Gamby

A)  wkiel GUgen Wwe agyndle S b

B) wemenL eTepiby

C) grmeoL erguubLsHel

D)  ealQLrbélen Qaglye Gedwaseir.

Horn of Indian Rhinoceros is
A)  Outgrowth of frontal bone
B) Cranial skeleton

C) Jaw bones

D)  Keratinized cells of epidermis.

waflgafsn L GHErses CorpOsM

A) 3/3.1/1,.4/4,2/3
C) 3/3.1/1,3/2,1/1
The dental formula of man is
A}  3/3,1/1,4/4,2/3

C) 3/3,1/1,3/2,1/1

B)

D)

B)

D)

L&Lev 8Crrgady 2 arer 2 0Ifl Gdlé arg 2

A)  Ben

C) @Gomrrst'ﬂ

B)

0/3.0/1,3/3,3/3

2/2,1/1,2/2, 3/3

0/3.0/1,3/3,3/3

2/2,1/1,2/2,3/3

LIDED LS 61T
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5. , "~ LION

‘Ductus caroticus’ is present in
A}  Fish B} Birds
C)  Calotes D}  Frog.
8. @ ag svewersGurEd upevey 7 |
A)  ypr B) GaméL e UQeumeant
C) Op@LysGamf D) uémssdlef.
' Which one of the following is a migratory bird ?
A)  Pigeon B) Golden plover
C}  Ostrich D)  Green parrot.
9. OelCLrensien aetug GO
A) Gussreé e B) oQuflsss memruiyé e
C)  snieoLe e D) eouel e,
_Lepidosiren isa
A)  Mackeral fish Bj American lung fish
C)  Sardine fish ' D)  Pilot fish.
10. sreupp Gmeaurpal
A) @6HCumen B}  emapeor
C) | SiemeoL L e D) Gm&s@rev.
Limbless Amphibian is
A} Icthyophts B} Hyla
C) Alytes D)  Necturus.
11, syufle umenGul GLev araotiu®d @Gi-b
A) eoaGenrCembasht B) ea&Gurienrsd
C} ea@nGurdlerraio | D} By seNQGuirlerr .
xXX [16001] [ Turn over



LION 6

Acid phosphatase is present in
A)  Lysosomes 7 B)  Ectoplasm
_C)_ Endoplasm D) Nt:lcleoplasm.
12. Ql;siu@m;'r(‘sa‘nmaasﬁ SiFswre sreludd @b
Al  Garelleé 2 e eriifledue Qiada el
B) Qsw smesdie
C) éﬂg}:ﬁ}& smuéseﬁ’l@
D) @emeu THEGID.
Desmosomes are abundantly present in
A) skin epitheha B) cardiac muscle
C) .urinary blad'd:ér D) all of these.
13.  Oereugestauppel ahe e aleig Qaadde sramiufag G ?
A)  QuiradGent- - B) dAevenursdlben
C) alyhe Cedsar } D) aeérGLrGembsst.
Which one of the foillowing is- not seen in animal cells ?
f_\) Peroxisome B) Glyoxymes
C}  Phagosomes , D) Ex;ldosomes.
14, Jereupeausappet abs paPdg e’ Cursrameflurey e Qgm iy @émm )
A HAEL | B) F geded
C) s &ediGembsel D) @euresGrGsmbae.
Which one of the following is not related to mitochondria ?
A) Cristae B) F, particles

<) Oxyzomes ‘ D) Quantazomes.

XXX



7 LION

15. wgey srIrgl uasme spaphlame Geuefdiiu L enGsrdub Gemgengdles
edpuenet Quuwrt
A) 'Gusbré}éﬂah : B) ég@&nﬁanﬁ
'C)  preuLmé SallL emoliy D} 3Gsmeur.

The trade name of Rhizobium inoculant released from Madurai Kamaraj

Unlversity is

A) Penlcﬂli.ﬁ B)- Rhizovigor
C) Nostoc colony D} Azolla.
16. Geer SRalen Gun@ @By ig 657 UMD F(BES) ......ccvveeenrene. 2 aurdipg.
A) @CyrGulgen Qg @ebd B} @GUFTIGLDITGO“@U)L;L.W
C) QanigCrr é@qw@mﬁ.qs&[ D)  @GyrGurGari.

During cell division the chromatin network is condensed to form
"A) chromatin reticulum B) chromonemata
C) heterochromatin D) chromosome.
17. adlGuearfl gaerasr Gdlé adle sramuu@dlamg
A) ©CyrCurGambsasi ' B) 2Ul&®
o 2 L& e D) eowlCLraram fur.
.Elementary particles are present in
©A) Chroﬁmsomes B) Nucleus
- C) Nucleolus ‘ - D)  Mitochondria.
18. 30s AGurBarmd gener G GFle HreTiL@GD
A)  80s AGur@smi B) 70s AGur@emip

C) - 77s AiGurGemd D) 60s fIGurGarmb.

XXX [16001] . [ Turn over



LION - 8

30s ribosomal suburit is present in
A) 80s ribosome B) 70s ribosome

C) 77s ribosome D) 60s ribosome.

19. ew CLraramgfluralles  Qedsarsd  poLQupeems s  Wsdd
sl ot 7 )

A)  Ulemblds ' B)  apmagb
C) GQuesoiLm D) Qardeliar.

Scientist who discovered that mitochondria is the site for the cellular respiration

is
A}  Flemming 7 B) Hogeboom
C) Benda D) Kolliker.
20. Slareslque Cedhadlla e drer oL ambadld aamaams
A gGroure 2 L& . B) @uea® a..tia.@,é,e,eﬁ
C) preng L a@mbssen : D) 2l &m @vene.
Syncytial cells are havi.ng
A) only one nucleus B} two nuclei |
C)  four nuclei ' . D) no nucleus.
21. sfluresr amperp Cathols® :
L g6 Ggry demrd ue uUstiysd sTasLLGSSDET  adTug
HeN@umgyminilet. ' ' |
II. LﬁlefﬂGququ,lJn’fDLSl&Lb aTpsEG CupulL  aloetaney Qarea gl
Gy seir. -
I follemerd &CLraflyflur GefiGumyrriis sdihe on 2 srram.
V. oo puflar NellGumgpriniles Cambmb aesiug sa@Beu.

@)eubhmysfr :
A lwl G sfiurerg ~ B)  lwdmgd I eflurareneu
C) 1 11 wibmb 111 s Nwrereneu D) Soandgin sfurarame.
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9 ' LION

Consider the following statements :

L Protection of many characters by single pair of genes is called

pleiotropism.
II.  Pleiotropism is the multiple effect of a pair of genes.
Ill. Phenyl ketonuria is an example for pleiotropism.

IV. Individuals expressing pleiotropism is called penetrance.

Of these :
“A)} 1 alone is correct B) land I are correct
I, Il and HI are correct D)  All are correct,

. C)

22, medoggdfl wgllud wyy Qurdldluelie siflsb LusTLGADE gCaraiic

A}

B)

C)

D)

sflsorer pamgaliifisdia gm; Comy @GrrlurGsmd w GG 2 srerg
porgdflilesr  @CrmCurBemflst  Gadar® gaudb ICame e
Quuefliu@eusTed

Quﬁlﬂﬁﬁﬁé‘@m@jlﬂfﬂ @oparer CrrsHle auentés (igousTe

@6y jemer HEIb.

Microbial genetics is very much used in genetic engineering because

A)
B)
o

D)

Most microbes have only one get of chromosome

Every gene of the microbial chromosome is expressed in phenotype

Microbes can be raised within confined petridish with short gencration
period

All of these.

23. Cergeren saly aerug aghelen_QGu pL-h@b seliy 7

A)
'B)
Q)

D)

@ mid genapenp 2 liflsgb gehdu QubCPTEHéeD
@uerLmd gesagppenp 2 iiflbgn ghdlu QupCpr@maeid
Wee goauap saullargdibed aEhdu QLpECPTESED
wpps goaypap sallflaridhed ghdu QuHCpTHaeD.

OO0 | Turn over



LION 10

Test cross is a cross between
A) F, offspring with recessi.ve pareht
B) F, offspring with dominant parent
C) - F, hybrid with recessive parent
D) Fl hybrid with domlnant parent,
24. OugdHfl euegu_b aeg alasedng
A)  Qurg ueyseflen cur,rearr@
B) o rdflagdler euyerp
C)  wyllwés Lt s s @@55 ©@bL suyerg
D) @obs wefipaisr epmsu aganp.
Pedigree charts explain the
A)  history of general characters
B)  history of an individual
C) family history of genetic characters
D) past history of a dead man.
25. dpsedoL aps OupCpriselldr @rss eumsloméd  aflECGrrilemrev e
s Lrellev 2 mairdlmg 2
A) Rh’ghevg wpmid Rh* yr‘m B) Rh* gpenp whHpd Rh™ gmd
C) Rh™ gheng wmid Rh* gmi D) Rh™ gheng wbmid Rh™ gmi.
Erythroblastosis foetalis develops when parental blood factors are
A)  Rh*father and Rh* mother B) Rh*.father and Rh™ mother
C) 'Rh' father and Rh* mother | D) Rh™ father and Rh™ mother.

oo (1603]
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26.

27.

~28.

29.

11 : LION

Gn&L&adT vrbpHenss GoDlug T8 ?

A)  B&&0 B) Qrlgsse

C) soowd) wmhpb D) eadlit @worhob.
Crossing over is suppressed by '

A)  deletion B)  duplication

C) inversion D) translocation.
@fle 7z empwCuIréE SeTeneu Gleremey 7

A)  sgmed B} @@uﬂmw

C)  ws® - D) dlalessb.

Of the following which one is not a measure of central tendency ?
A}  Mean ' B) Median

C}] Mode D) Standard Deviation.

Spéaccuppel  ehg @&,é,\‘rjﬁ) HiapOouadsn  UTeugude sgreflow  acmsdlL

2 gadlding) 2
Al Zfx o B) N ¥ 1
N 2
.2
T(x-X
o X o 2%
N N

Among the following which formula is used to calculate mean for a frequency
distribution ?

Zfx N+ 1
B
A) N ) D)
X E(X-—j(-)z
C} -_— Dj —_—

N N
‘peiumen’ ergernd gHuGElpg 7 ‘
A)  Gué wés Gl alsen
B) maégbg, grensenen &eurfluugme

C) e dligyer gpBlu QUr@EGL AT HapauSTe

D) g Qiget-g g ums. Henaaartallene .
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LION 12

Allergy is caused due to

A) inflammation of upper respiratory tract .

B) ‘inhaling pollens

C)  introduction of foreign material in the body

D) “hypersensitive antigen-antibody reaction.

30. 'wrGasrdlsn’ agap & QeTLiymLLE ?
A)  21-GurGer@smbl B}
C)  18-geyGems D)
‘Mongolism’ is connected with
A) | 21-Monosomy B)

C) 18-Trisomy D)

21-geryGamb

18-Gun@armrGamdl,

21-Trisomy

18-Monosomy.

31. 2oQarm eaniCurenudlen ergpgenar anmrtCurdisamen sn&flng ?

A) b B)

o 7 D)

6

8.

Number of hormones secreted by adenohypophysis is

A) 5 . B)

o 7 | D)
32. peousenie 2 GLTPPSOE HLOULOSHUS

A 5elGLrdlen ' | B}

C)  emigenanéli ggrrr‘r(&‘nrre'sr ' D)

Frog metamorphosis is governed by

A) oxytocin | B)

C)  lutenising hormone D)

o ‘

6

8.

anul-GL rdflen

s éedlen .

pitocin

thyroxine.



' 33.

34.

35.

36.

13 LION

SCyrilenrevig s Nanalls Qupssd adé sraniuGdipg 2
A) 20 urgedlen B) upemeusei
C)  goueensel D) mrlsef,
Meroblastic cleavage occurs in |
| A) . Amphioxus B) Birds
C)  Frogs D} Dogs.
ACTH e sgtiug), éqtq.Gsum oapCuraudlée sreorliu@o
A) é{ﬂ@l_mﬁ]s{ﬂé) Qadvaear . B} GuGerdlells: Qledaet
: ) By Crmidis Qedaeh D)  Geupms méq@é;mm.
ACTH is secreted by .............coonis of adenohypophysis.
A)  Acidophilic cells B) Bésophmc_ceus
C)  Neutrophilic cells . D) None of these.
Spsacn_apper ey GG Spfied 7 |
- Ay yGymedledr B) dlenendlen
C) ene §leit D) @yevurigs subled.
Which one of the following is called imino acid ?
A) Proline B} Glycine
C) Lysine _ . D) Aspartic acid.
Spaaaon_euppet g oo QpTH 7
TA)  seowlaen , B) &fuGuen
| C) asCLrelymbd &ealGLev D)  yGpmyCuev.
:. Which one of the following is endoenzyme ?
A)  Amylase B) Lipase
C) Cytochrome oxidase . | D) Protease,

11603 , : 16001 [ Turn over
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37.

38.

39.

14

ELISA Cargeoar aeang s diu 2 gadlatpg 2

A) eLuTh@ sTLESH \ B) #oefev

C) AIDS ‘ D) et lushv srilisen.
ELISA test is used to find out

A)  Typhoid fever B) Syphilis

C) AIDS ‘ D) ..'T.yphus fever.

weflg 2.6 Gyl geen edsuans aigeupdd 2 Highsflpg 1

A Quie@aet B) aﬂ@ayn ag.ﬂqmﬂa:sfr

C) @ e OyTLIqeTsel ' D} eeflu quﬁLw,a‘ns.sfr.

Proteins are absorbed primarily in the form of ............. .... iIn human body.
A) Peptides B} Amino acids

C) Conjugated proteins D) Simple proteins.

Spaaion @@mmm s

gem_&..qu @us s&f adug Spsadom émﬁumu Qarerangew QarEEg
L . sGugd |
I st geLamiy alamasaenyaLu Grus blsdsd
0. gy coony Gignedt-gyedonquimg alener

IV. &mbollefNQuoest. eﬂmsur.

Qleubpetr ¢
A)  Iuwl @b sfluresg - B) luwppd I eflurerancy
C) L Nwppe I sflurereney D) oarpgd sfluraraa.

1603 (16001
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41.

15 LION

- Consider the following statements :

Immunological memory is the basic principle of
3 B Vaccination
.. Memory cells of primary immune response
1l.  Ag-Ab reaction

‘IV.  Complement reaction.

Of these :
A) I alone is correct B) I and II are correct
C) I, I and III are correct D)  All are correct.

- Oereugeusmeupiles eflurst QurGderss g

A) e Lber B, —  Qufl-@Qudf
B)  dwrdle —  Quéedlym
C) e Lfler K — eanCuryCrrdymbieaifiumr
I-))' oo flér C ©  ~  f&GsLlev.

Which one of the following is wrongly matched ?

A}  Vitamin B, — Beri-beri

B) Niacin — Pellagra )

C) Vitamin K — Hypoprothrombmeﬁna _
D)  Vitamin C — . Rickets. |

yLuGenmSlenrevig e &phacti. e &@é@&mm& @\ cdor (et et
A D 3066, 16 SBHE LHDI S5 GG

B)  up 20&e whpbd BE HEHS

O up 1056 Lhpid S SHOEE

D) 50 2046 cHDD K& HBES-

xxx {16001 [ Turn over
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Diploblastica are consisting of which of the following cellular layers ?
A)  Ectoderm, mesoderm and endoderm

B)  Ectoderm and mesoderm

C) Ectoderm and endoderm ' '

D) Mesoderm and endoderm.

42.  dlemrfleorr ;.m'si)urrsﬁer'u eretTp pHOSabLIHD cﬂ@wj,@g;mbﬁlmuj mrrgpe'nsmaa aphllies
QamasorL. g1 (Hieder awfl |
A)  ofeiyGueilur | B) wrGermréleuyg v
| C)  GlenmevGomg.uid D)  wfouer@emon.
Glossina palpalls is the mverfebrate host in the life cycle of the parasite _
A) Leishmania B) Monocystis
C)  Plasmodium D) Trypanosoma.
43. CLredGurCeuflur a)lrrr'rmrr THEOL WG ? -
A)  GarGergymiguwm B) ycimgL mebr
C) sLd plegdlgn D) asflaamSigur.
Dolialaria is the larva of ‘ . -
A)  Holothuroidea * B} Antedon
C) | Sea star | D)  Echinoidea.
44. @pemem LIGLETIDITEDT &I |
A} . Bwmrebng Ml - B)  ayengqug)
C) Qsmgrelwd D)  ubélwr,
Braixi coral ts |
A) Meandrina B) Antipathy
C) Corallium ™ : . D) Fungia.

xxx [T603] |
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46,

47.

- 48.

17 ' LION

BT (WPSHHUUL D' 6T TLIS

A) (;?g,é.rﬂme'm &G B) &hn @pHHOLLGID

0 IfwGuogs SG&G ' D) (Surrﬁ'cmsﬁ. |

‘Motﬁér of Pearl layer is also known as

A) Nacreous layer B)  Periostracum

C) | Prismatic layer D)} - Mantle.

Epbaci_apd plesdy Sailer antar ag 7

) g fsgCaflur erfeur B) sovullerGenflur evmieur
O ..q@t_qma'u Ui eum D} q@gnd&@eprr co@UITE emteur.
© Which of the following is the larva of starfish ?

A) lAuricularia larva B) ° Bipinnaria larva

C) Pluteus larva | D) Trochophore larva.

BITOLA b e prldr gpad GLelld Gerambgeianer ? |

A)  Qarsdlselr B) a.figdlaei

C (A wppid (B) Gyer®id D) §appst agapfeme.

Taenia sollum attaches vlvlth the wall of intestine by |

A) ;h"ooks B) suckers

C) both (A) & (B) D) none of these.

@5géeﬂﬁdl sfgp&s;dm_mf_b@dt by cuens 7

A} euardealur B) GaavlCyrGumrim

C) w@aBurGurmr D) Q&ué)GmnGunLn.

Pearl oyster belongs to

"A) Bivalvia B) Gastropoda

C) Scaphopoda _ D) Cephalopoda.

XXX (18601 [ Turn over



LION 18

49. &psacon_cupdé g sauprel Qur@sduysierg

A)  GuélGure —  UiGemd Qs

B) eafur - Geaféeid Sipdomelr
c) aéuaarrrﬂe”u —  OpefilLr Qeé .-
D) OCererflur — 216 Qse

Which one of the following match is incorrect ?

A) Faciola —~  Flame cells

' B]. Taenia | —  Collecting tubules
C)  Ascaris —  Renette cell |
D)  Planaria —  Somatic cell.

50. &a't (b sat"L1oTs Gledogyd UYL WE
A)  eaflur B)  weoyp
C)  dRev | D) sreL.
Swarming behaviour is present in
A) Taenia B) EMwom :
C)  Nereis | D) Leech.
51. &psmcimcuppei eTeneu gmrrGe:mS\mrreiu-lq.és QerellQu@sé suensmdlé myrrg;ﬁf?
A) Goguwé SeraluQugpad B) q.e?ue,mm_éu‘ SenredlQuu s
C) eouGalLpé LS]WQ&]QQU@E,@ D) sveupd JaalluGumad.
In the following, which is not a division of Holoblastic cleavage ?
A}  Radial cleavage B) | Discoidal cleavage

C) Bilateral cleavage | D)  Spiral cleavage.
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52. Qsel eertéflfer Gurg, 2Luypé Geal fpssan. aphg usdiear ussuseflé
BEhHE sywerTs aery o rillsdlaTmg 2

A) LCrrQeanGlaueuedt B} Jesr Qeueres
C) Gombuen GQleuemes D) @euppst argeibideme.

In ear dcirelopment, inner ear develops as thickening on which side of the

following parts ?
A) Prosencephalon B) Mesencephalon
C} Rhombencephalon - D}  None of these.

53. weailg gri-Ged Gevewting faala ceme
A) a&nGLrFNCurCamfue - B) eliggliGur Camflud
C)  afGurGarflude - D) ferGiL avBurBamfue.
Human placenta is classified as |
A) Endotheliochorial Bi Epitheliochorial
- ©)  Haemochorial D) Syndesmochorial.
54. aéé@&aﬂ Lpsadn. oHsdé QEbHe 2 Gardpg
A UpsiGhe bBD B)  $i58i060 ul6b
C)  uUDSBES LHPID Si6 SNBSS D)  BO2GSS WGb. -
The internal ear develops from which of the following layers ?
A) Ectoderm only B) Endoderm only
C) | Ectoderm and Endoderm D) Mesoderm only.
55. &GDIED sably QBOITS Carppelésuu@dipg
A) by Oededler 2&SyrGemb ~ B) Ll entifledr Nemmerviom UL euid

C)  opleolien ol edlebriievlbd D) - Quiigeedle.
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The fertilization cone is formed from the

A)  Acrosome of the sperm B) .Plasma membrane of the egg
C}  Vitelline layers of tht;._ egg D)  Ferttlysin.
56. peuemaniid wadse s@sCaraonga K&psdl poL Cupin aflams
A s lgfew, s;x'_ase'umm. CupuL-tpe LHIDd &ipdse
B) GupuLisé, 2 L tgd, spasd wHpd o L Cledee
C) 2 @flpe, o et @mkp@é).'@mlj)uu'mé: HEIDd & perpe
D) slufge, Copuitge, 2 e piopse whpibd 2 Clsaead.
The corréct sequence of gastrulation in frog is
A) 1nvagination. involution, epiboly and rotation
B) . Epiboly, emboly, rotation and involution
C) Invagination, ingression, epiboly and rotation
D) EmBoly. epiboly, ingression and involution.
57. afép QarPsstiu@erer  Ggiflod SHHGHERHGDd S0 Corhpalsgd
2 plinseremyd oaupy sfurar dlorow Qurpsgps
L a&CLTeWL b - B
it ad@rfd  — @gu.;fn
n.  SCsr@ito —  apeoen
@leupgyet :
A) 1, II npgud NI sfurereney B) lwl@b sflurearng
C) luppo O sfluraraa D) uoppod M sflurerena.
xex (1803 L )
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Which of the following pairs of germinal layers and organs is correctly matched ?

L Ectoderm —— eye
II. Endoderm —_ heart
HI. Mesoderm — . brain.
. Of these :
A) I, Il and I are correct B) Ialone is correct
C) Tand U are correct D) II and HI are correct.
58. dpsscdm. app Osaadld sly ghuPausrd artdGarmor Gararpdipg
A}  Q@Qeawiyphle . B} egiby Qedsst
C)  alfdud Qedamer D) fiphedss.
. Carcinoma is a tumour arising from which celis of the following ?
A)  Connective tissue B) Bone cells
- C) ' Epithelial cells " D) Pigment cells.
59. ga.m'rrar apeopd Cathols® :
M ICHTE ey o Heurh@Geug
A) auﬂaaﬁ:rrm Qe euertsd) whpeo Kifige
B} @puy Cedsansara alifiopenpew urgsriug
i C) mbﬁé&&mnaﬂ da mcl.@Gs.m'Jmu @upss Cslgeé
‘ D) adliiy o468 seuwifle epupd) GedaswpLdr Reoambg QFudu@S.
Choose the wrong statement :
. Oncogenes create
. A)  Hyperactive cell growth and division
\ B) Protection against programmed cell death
C) Loss of respect for normal tissue boundaries
; D) Interaction with protective cells of the immune system.
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-60. 2 gy aueTTge GULGLBSSISDN SENE0EE
A)  saogf
B)  Semeu@rCuresr PBS G).'l]ﬂﬂl;DL[
C} aieLdlsr el usseanl’ @ 2 erer(Gé@ .
D) @)ooy SjTHgid.
Choose tﬁe organizcr from the following :
Aj Optic cup
B) Dorsal lip of blastopore
C)  Ventro-lateral endoderm of foregut

D) All of these.

6l. Qe apCgTesaticc HOMBH HOLOUDIEUDS .oevvrerrrerrrrrnns ST BnpOUD.
A) ke GCeueiléGladad ' B dlober e uyesd
C) aeamslurasd D) g SivetHab.

. Dispérsion in a population is called
A)  Emigration B) Immigration
C)  Migration : ' | D} Al of these.
62. OQlurgéé .gqﬂl'_-sml_é) apl.Crl. asbhE TOEES ST ?
A) maddloe T wraEoGUTGeT
B) @geoimb Benevanpp wralGirmel
C) sgifluss wratiQurgst |
D) @it wralQurmet.
Peroxyacetyl nitrate is an example for
A) primary air pollutant B} secondary air pollutant

C) radioactive pollutant D)  water pollutant.
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@imeaurpelsar sLophe sfigre sraiL@dpg. selsorer sGLY @i s e
ureygene SLALUEGSHHEDE ? |

A)" CLrGur&gmi B) sruQeniufeme

C)  gTeaughsel D) z.Oufpeiens.

Amphibia are rarely found in the sea water. What kind of barrier imposes this
kind of distribution ? -

A} poographical B)  Climatic
C)  Vegetational D)  Salinity.

@@mmmrrm_ GWENML e UG EHenen L@mné@ﬂ) o If  FEpeTWD  ........ e

Grmﬂu@fo.
A) s eumfle B) &
C) ° o CLrgymis a@pgmusd D) rGarGLmel.

“The prime biotic communities which form complete and self sustaining units are
called |

A) | Microhabitat ’ B) Niche
C) Autotrophic communities D} Ecotone.
Syflev wenyp agEITe 2 aurdlenpg 7 »

A) aeflncoiLesfle ot oL 9 é0e@ Hlewrs @@Dugné’u
B} eusflocegde srivs Curamsamevd fawrs GmUuugreé
C)  euef ano'wl_énﬁ,ﬂdl W& aed wmhaseT SHlawTs @Q‘gdLlﬁNﬂ')
D)  eueflwaoiL epdledr giaeismer Gplugme.

Acid rain is due to

- A) Accumulation of sulphur dioxide in the atmmosphere

B) Accumulation of carbon monoxide in the atmosphere

"C)  Accumulation of pesticides in the atmosphere

D) Dust particles in the atmosphere.
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66. WHasfpliures urgsTUL TeTUE
A) afiflsaer SUUPLUERGGISS
B) Gpmilse sBLys (Burrég,s’u
C) aumpal g UTHHTHHH
D) @eumss srasdd o diflar sansbs@iy Qebgs.
The most effeéﬁve means of conservation is to
A) remove predators
B)  vaccinate against disease
C) | preserve habitat
D} census the species during the breeding season.
67. @pheeanuuybd o Sferhisenenyb Gotdoanss Ugs@d uyilihe Cuut
A) gphere waLeid B) @phevediuc
C) peretflue 7 . D) slwgere
The study of interaction between living organisms and envlronrnent. is calléd
A) Et;osystem ' B) Ecology
C) Limnology | D)  Autecology.
68. @E@ausdild ag LLs QTS WTE CUTEeT ?
A). aflo afley- " B) oL@ 2uCuras sifiey
C)  Senmevgd QL6 D) erbsdaseisr afiey.
Which of the following is a bio-nondegradable pollutant ?
A)  Organic waste ' B) Household wasie

C)  Plastic materials D) Vegetable waste.
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 BPHeoIL sabpisener s

I apss 2 pbsb yifleeiie Qurgers sTTILEGD
I é& 2.pbsd suemté flenwud GG U®ESSEUD FHESD
L s 2 paed QuTgeuTer Qeudsmmend SHHGD

V. apés 2pbsb advar alebdlomhsapsed Caomaumaig.

@sur_b@}a’r :
A) : Loc@d shureng: B)  Topgn I efuraraey
C) L Nwpgid NI sflurerenau D) gsapgn sflurarema,

Consider the following Statemeﬁts :
' .I. Diapausc commonly occur in msect.s
| II. Diapause stops growfh and reproductioh
_ 1L .Diapause di_;arupts the normal activities

Iv. Diapause is essential for all organisms.

 Of tilese :
A) - Ialone is correct B) Iand II are correct
€} L 1land I are correct D) - Al are correct.

gpsacm. arsdubsmeand s :

B-Jj)mj (A) 1 soelpd 4 o e G Bama.

s.rrryeum'b (R) : gQaafier SpgueLw urd mngp&,cuimmu.! whoprE elemden
‘l 2 ILp@er Qeaal@fpa. |

EQp P Peirer @iiuiiigéo 9rﬁu.m'sa1 alewLerwd Cetbs® :

A (A) wbpidb R) Gyesm@d &

B} (A} eflurer éqbgos‘ue:

- C) - (R) sryamid. sfurengeie

D) (A) wbpd (R) @uea®b Seumreng.
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Consider the following stateménts :
Assertion (A} : Live; fluke {s considered as an endc;pa;;asite.
Reason (R} : ! Because, it spents half of its life ins.ide the body of its host.
Now select your answer accbrdlng to the ching scheme given below :
"A)  Both (A) and (R} are correct |
B) (A} is not correct statement
C) (R} is not correct explanation
D) Both (A} and (R} are wrong.
71. uelNyCasnseni, srdye Sylssusenb, ps L@glaefetr Speusid
A)  BGumgymilé @-fger . B) @,éuﬂ@geﬁlm u@dselt
C)  gfluatné ugdeer : D)  a3dCurniuet ugdaer.
Both Antarctic and Archinotic regions beloﬁg to |
A)  Neotropical region B}  Australian region
C) Oriental region ' D} Ethiopian region.
72, SPpseci sehpiser U
I uvéedflemeeard oepdd 2 uCGuraiu@sslu@od | wiyid
2 GHUTSEGEYSG CathllpBsslLGHpg.
II. seoarser sU@oug baw fllieny s0&Hpg.
I Qupens 2 gb Plegdeé aaios yaoisadlsamg.

V. wveyp Bt Ceafluy Hleggy ey urgiersdpg.

Qeubguetr :
CA) 1, HIoppd IV sflurerene B) I Ilupgo IV sflurerera

C) luppid IVesflurarenau . D) oenpgd sflurarae.
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Consider the following statements :

L Tree species visited by diverse group of animals will be selected for

4

afforestation programme,
II. Construction of dams will prevent soil erosfon.
I,  Natural fertilizer will rejuvenate soil fertility.
IV.  Rain water harvest conserves ground water,
Of these statements :
A) I, Il and IV are correct B) I Il and IV are correct
Q) I and IV are correct D) Al are correct.

SpsaaoLsupper sflursl QUIEHSTSS el 2

A yeoguga aflGurgst — ygolss Querg Gupere auemd
B) @t ' — yaidésssmu Qubens auenh
' C) srgCurmeh — sanpGw grrg Gubens euend

D)  eued = Syhg & Qlumme .

Which one of the foilowing is wrongly matched ?

A) Fossil fuel —_ Non-renewable resource
-B) . Water - Renewable resource

C}. Mineral —_ Inexhaustible rescurce
D) Forest — Organic resource.

Sesteumeuaraupdios ergy sNwral Gur@mbduyererg 7

A) apseTe —  uGunGaev

B) SpGgen ' —  oapyrmeé gpurliy
C) yyrarevadCLlCsaudr Qewer — 2.0 erips e ‘
D) Eogmlit Quessn —  &HDY F5DS.
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Which one of the following is correctly matched ?

A)  Ethanol —_ -Biogas

B) Metharge —_ Hydrogen production
C) Trans-esterification process — Biodiesel

D)  Microbial production — Sugarcane' molasses.

75. dpsacduiapper anhs srpewb udGay seaPLILSEHGG  HTFERIOTS

SDLaTIRene 7

A 2 ey Caemen

B) urgeriy Caemeu

C) shadeow Qunss gy Gpa Cgeama ‘

D) uenssuismel GHSSD.

Among the fonqwmg which one is not the cause of adaptive radiation ?

A)  Need for food - B)  Need for safety

C)} Need for better breeding ground D)“ Presence of enemies.
76. Q@eausdic ag G\g,m_r‘r{bg,ruqmgjé.@ 2_gIryestd 2

A)  giemmd B) gLL&D

) Sy | D) sgiumen yad.

Of the following which one is an example of continuous distribution ?

A) ~ Dipnot B) Camel

C} Taptrs D) Cockroach.
77. penaft arp Sera@pd whp eOegbsEh Gdars G

A) géurafls Sayselr ] B) srangGereé Seyselr

C) slamursey Feyselr : D) gru. Qamnelerr.
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Fresh water fishes and other vertebrates are absent in
A) Oceanic island B) Continental lsland
C) Galapagos-island D)  St. Helena.
78. wyhCar pmiser Sphsmeoisuppiet i a;@@éﬁu@ﬁg,uqt'_l_g 7
A S ifser ‘ B) @y evdlGreblur
Cl} Gurebgs D)  uestmwor.
Where was Dingo-dog an introduced animat ?
"A) - Africa B} Australia
_C!} Poland ‘ D) Panama.
79. s adér Bs sdu detgss yaliléd urelystar LeHow aemrugibgart
A) T eur(® B) C.R. urenGL
C)]  G. K. Ggbev | D) A R aurGeve.

Six major zoogeographical regions of the world were formulated by

A) Edward : -~ B) C.R.Bande
C)  G.K.James : D} A.R. Wallace.
80. memlyd Wersel ........ aumawTer UTsuame Qouefliu@sadlpg.
A Gmiédupp B Qpmsduren
Cl seLluli _ D} &sLGUUESstULL.
Lung fishes show .................... distribution.
A) | discontinuous . B) continuous
C)  restricted "D} lmited.
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81. dpssauL ansdlubsamend soue
Sespmy (A) ;- Glememnurer 2 pliyser uflerry GEsoe ST HHDE.
sngesd (R) : @,pgg@a,gmbl.ﬂs.eﬁéu Glswb whpd aﬁmmq.é: ueneTey eI Q‘;urrdu
srauRHDs. ) |
| FCyp @hul_@eiren @Dl e srﬂu_.lrraﬂ alenLenws CarpOs0 :
A) (A vpps (R) Gean@h &M, Gugrd (R) ererug (A) elde sflurer alerssin
' B)  (A) whpid (R) @retaGio s, Qe (R) ererug) (A) ehe shurer elenésinde
C) (A} &dl gene (R) geupi |
D) (A gaup syeormés (R) aifl.
Consider the following statements :
Assertion {A} : Analogous organs indicate convergence evolptlorx.
Reason (R):  Similarity in heart and aortia.;: arch among verteb;-ates.
Now select your answer according to the coding scheme given below :
A) Both (A) and (R} are true énd (R} is the correct.explanation of (A)
B) Both (A} and (R) are true, but (R) is not the correct explanation of {A)
C) (AJ is true, but (R} is false
D) (Al s false, but (R) is true.
82. 2. emg Wy Gm@um‘_am_ 2 (Bundsé saugw pédlu uflaomo sryef ag 7
A) et wmhpbd B) seUlanorsshd |
C) g Geeiunssd D) seflouulbasd.

The important evolutionary force that causes immediate genetic variation is

-

A)  Mutation B) Hybridization

) Recombination ‘ D) Isolation.
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83. ol 2 GouraIEHS (‘y:dsé.\mnm FTIOTE TOHs CararariuGd ufiCsrgamean
A)  umeugy ufiGergeamen "B)  @CrrulGur lgrd ugly apeud
C) - Beeflen ufiCergamen D) Gaprodldreden ufiGergenc.
Best experiment used to prove the origin of life is
A}  Pasteur’s experiment B} Chromatography study
C}  Miller's experiment D) Ho_pkin's experiment.
- 84, GapuL pscuawilipe Spps 2 gryermors dlapeug
A)  senfreuss ufemnmioh B) | Lrtelen & Réomallsr se@
C) Bensmefien ufeommiobd D) urguligseien ufleomob.
Best example for adaptive radiation is ‘.
A Repﬁle evolution B) Darwin's finches
C) Fish evolution D) Mammal evolution.
35. G\g,rrkﬁl[bcr.rrsmm Blpwrpp alenersy o e oﬂmémuu(gé]pﬂ ?
A). Qi@ wrg B} easetaeln
C) deuudesn urélash : D) olenkg Hpeeuser.
Industrial melanism is explained in |
A) | Peppered moth B) Lichens
C)  Blue green algae D)} Zooplankton.
86. Gupuruy gfl piflé waeatow o pusdée Daaid aryasiors @uvLug ?
A) Doy greunhiser B) &siy wHgmd ugoy Hip aGs
O ddekg Bgwmea o difisen D) g,rréJg Bzeneu 2. Bflasi.
Most of the prlmary productivity in the surface water of lake is by
Al Floating plants | B) | Red and brown algae

Q) Zooplankton D) Phytoplankton.
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87. Fhpssagu Benaer @Hd ahs sudsaw eTihHog ?
A) - dly e ren B) Op&ren
C) goeu o ffset ' D) Ouenr@gmren.
The swimming fish belongs to
A) Neustons B} Nektons
C) Planktons _ D) Bénthos.
88. @Grruréardn wallgailer allevmidlud @uuit ereer 2
A)  GaprQur Qeiniwer QlelnSuest
B) CaprCor Gleinfluer plurer_itgwreSussray
C) CaprGuom ayéL ey
D) GaprGor gpmileiay.
The zoological name of Cro-Magnon is
A)  Homo sapiens saplens
B)  Homo sapiens neanderthalensts
C) Homo erectus

D) Homo habilis.

89. SgusramId THTUS B

A)  sowiiug $eeusmbiiy B) elehkug sa® umpéens
C) . shHemiy gaecusmnly D) 9;'.@@6&5\ &8 IHOLIL|.
Mimicry is a

A)  structural adaptation B) animal association

C)} protective adaptation D}  parasitic adaptation.

90. &fw By seNCuir qqﬁmmsﬂaﬂ@;bﬁ Quflu essapise 2 HauraphHe Cuut
A) urdQuAGseet B) GansrCeusen
C) ofGsse D) AeoaCsrOgefddv,
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Formation of larger molecules from smaller nucleoproteins is termed as

A) Polymerization B) Coacervation

C)  Aggregation D) Glycogenesis.

Qani g Gyriiflév o

A Guergs aumesow Carhogl B) fighed wensawus Catpaa
C) emihg Gedgud cuemsow Cotpag D) @leurapbd NP Garbpg.
Heteronereis is a |

A} pelagic form B) planktonic form

C)  creeping form D)  burrowing form.

gooelarCuryraldt Gmre spudsd Spssco  ualladid  gerflaen

- Qeddlepen
A)  sifla Baebd B) yewitgd
Cl @Quss gLLb D) &rgse.

The crural glands of onychophorans performs which one of the following

functions ?

A)  Excretion B) Copulation

C) Circulation D) Secretion.

wedbrLagailetr 2 L el 2 remiowres a_x;gb@@ 2 aieng gQlemetlén

A}  @leveu 2 L6 Feut HOID 2 GRTEY UTEnG HTOTLES G e lé a_efrenm.

B) WOCsrGutd useupHed s@amer eLéoeh  aulgddlud  Haaurd
apLLu(Rpefreng |

C} Qmm o L@ Freussrd Qrollyererg

D) 2L pef e sauppréd ugHuuBssliu Beterg.
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Body cavity of earthworm is a true coelom because
A) it lies befwcen body wall and allnientary canal -
B} lined by coelomic epithelium from mesoderm
C) it is filled with coelomic fluid
D) it is partitioned by .mtersegment‘al septa. A
94. piflev wHpd GQG'Uf 56 lzsdle ghpevurs sramiLBipg
A)  GulLrGwilsb
B) urellery Yifley
C) @euCupsaiddar Curg mGiens BLSEPHH
D) salLwreGe aurpsd.
Nereis and Honeybee show stmilarity by a common behaviour Le.
A) metamerism B) sexes are separate
C)  swarming during reproduction 15) live in group.

95. apssauappet eflure Qurgbdlysioreang Cote) Qed :

A)  serengGemrevGLmor — Bl

( B)  &GQuAGuresr - 20
C) 2 4sCyfur — IDGBITLI(P
D) YenGerflum - Qare.

Which one of the following is correctly matched ?

A}  Ancylostoma — Dog

B) Fasciola — Sheep

C)  Wuchereria - Earthworm
D) Planaria — Mosquito.
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96. efsvoraflur-eSer aL_gd ag
A) P séaen ~ B)
C) - QeLeved F&s6T D)
Vector of Leishmania is
A)  Sand flies’ | B)

C) Tsetse flies D)

Q&R G&HBHEN

S| L &HeT.

Mosquito

Leeches.

97. weryedid 2 erer Quomrds Blswkselldr aanalsame

A 6@eemsdh | B)

C) 10 Giemaxgeir o D)

8 @)oot & efr

9 @\ sl

"~ Number of hearts present in earthworm body is

A) 6 pairs | . B)

C) 10 pairs | _ D)
98. QaplyCyrifley acug

Al @erb ffeu B)

C) wemyy - . D)

Heteronereis is a

A)  young nereis B)

'C) earthworm D)

99. pm_miyaie smapse e Qupl b

A) Qeenger | B)

J)  apueu D)

In Taenla solium f;:rtﬂizatlon occurs in

A) Vagina , B)

C)  Uterus : D)

xxx 550

8 pairs

9 pairs.

LION

urér pPtréfluspg Bifley

u@auseLwr Biflew.

sexually matured nerels

" immature nereis.

GBS STl

eryfle Lshend.

Fertilization canal

Laurer's canal.
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100.

101.

102.

36
pfled-6 euminigd ¢ oirer G
4a)  CuriGLrGumgusd B) GufievGLmblub
C)  umprGumgud b) " YCrmrev@Lmbiub.
In nereis, the mouth is situated in
A)  Notopodium ' B) Peristomium
C) Parapodium D) Prostomium.

gevamiLe Hrd Cab @e_mags_rﬁq e qé\@-anmau@eﬂ]mﬂ ?
A)  @gdey N B) &Bseh

C) glLsdlalhud D) Gprietdlwn.
The discoidal placenta is present in *

A) Horse | _ : B) Sheep

C}  Giraffe D} Rodentia.

e morbnsHer Curg ‘%éseﬂgsu‘r;!sér Gz emeu

A eopdpg B) sflefsdpg

103.

C)  #EQslLwiILGHDE D) srgryenr fevel Bwédng.
During métamorphosls the oxygen consumption is

A}  decreased B) increased

C)  compensated D} normal. |
Gmdu@@@awasﬂmrr& 2 (HeundaUUED Csd SREGHe

A) 6 B) 7

a3 D) 5.

Number of layers produced by gastrulation is
A} 6 ' B) 7
c 3 - ' D) 5.
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104. IABge v s sramiiu@d Gy elewbderp.

105.

A)  peuenen ' B) Qgtba.ﬂum’égdu
C)  Senaeh | D) Gomp.
Prlmlﬂve streak is only formed in

A)  Frog ‘B)  Amphioxus -
C) Fish | D) Chick.

apg e dfidie 'ﬂésﬁeogbm CaavPmCaaysn pe Qupdipg 1

A) ypr B} uollurédlen

C) mue D) Gamfl.

Simplest form of gastrulation is seen in

106.

107.

+

A)  Pigeon ' B) Amphioxus

C) Rabbit ' D) Chick.

apgaler emaéldr o mambsios gHUDSGE

A) oYy afqdaGgrrGemb B) alpgeler Qeuefliypseciey -
C) SLsdlen Qasiloypésdiny D) urelsdlet Ged,

Sperm l_ysm is produced probably by the

A) acrosdme of the sperm B) outer membrane of the sperm
C)  outer membrane of the ovum D) follicle cells.

Bopu asrtéflden Curg, gyrbubdid

A)  @eruaudd Sehe PRI cueTEHb-

B) @® aanGLr anfque Gpasel aergb

C)  QGsu SMLlyDLY pasad paterdldehg aemtsHueiLyb

D)  @aosgibyp Oarifle Qmbe Hasspan Caranpd.

ik 500 { Turn over
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108.

38

In the development of heart, initially

A)  abud develops from stomacix

B} two ehdocérdia] tubes are developed

C)  heart shaped muscles are developed from forelimb
D) bundle of tissue is developed from vertebral column.
Sl QL evBur@arflud cuenas Nenrblsair o eier alewiig |
A w46 B)  wueirgl

C) i D)  @ué.

-Syndesmochorial type of placenta is present in the animal

109.

110.

A}  Sheep ) B) Pg '

C)  Dog D) Rabbit,

ueeTHeng Laphsefd, Nerrevewr a_qr,surré.agbadu m@u@ﬁ Qe doselr

4)  a&CLroLfb - B) " Guygdrenswon

C) plGumSlenraul. D) @ng@efr srwcqnﬁiéoanm.
In annelids, in the formation of Blastema, the cells involved are

A) Ectoderm - B) Parenchyma

C') Neoblasts D) None of these.

geuenerr cuemt ¢ Gurbpsdler Gurg é’@é_sdun_mﬁ)pjeﬁ a%r g6 Hapa wLLED

sflures g

A) 5meoudlemr;£.mn_u’jleéw Ganelld Qg @opsy ghud

B) u&s&@aw@la_mttm m;m,mmr\'éé_\qmm

<) Coyren G enLwren @ & ugdHwrs, mmﬁﬁﬂq@&? SR

D) @ﬂ@m@ueﬂ& uers Qe cllé cgemasmﬁ_& WTHOOLIEHD.

8O3 .
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In frog metamorphosis, which of the following statements is correct one ?
A) In tadpole skin, keratin is decreased
B) ‘ Lateral line sense organs are developed
C)  Straight shortened intestine is developed
D}  Ureotelic type is transformed into ammonotelic-type.
111. Ganmpasfiie praxNCis Ghmi ST BeITeD ghuGipg 7
A) - yCyriGLrGameusi i Hietoremfiaef
B) H,@Gma.
C) emeugeiv
D)  uméedwr.
In fowls, Ranikhet disease is caused by
A) Protozoan parasites B) Fungl
C) Virus | D)  Bacteria.
112. wbp géeﬂ&mm g & getmgpib W &Hash @b mmmmm; sriihpeney
~A) sré'n.@mrr&@ua&éﬂ |
B) axm’mﬁl@mrri;du
C) gL @esoasf
D) Quevl Baefr.
The insects predating on other insects,are said to be
A) Entomophagous B)  Larvivorous

) Parasitic ‘ D) ' Pests.

xxx [ 1603 | 16001 : { Turn over
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113.

114.

115.

116.

40

deflesr arhgliu@d @evedldnlemren gmnﬂééﬂ LweTL@D ?

A)  Garé B) &sdelyd

C) esrhplenu : D) eguby.

Which body part of the fish is used fpr manufacturing isinglass ?
A)  Skin . B} i.iver |

C)  Air bladder ' D) Bone.

@rj,ﬁmrmﬁ\éu ety G\sa:rrmeuo‘ﬂmp sflafasan, e aoey UDDTE Gapew Baaaib,
Caumevumblieny Qu@Bsaad LusdTu@D asranurer Siflay gearp 7

A) Cgeaf a..lenﬁ'uq | B} Gamf }umd'u_t.';

C) o 2O eueniiy . D)  uwl @iyt euentiy.

The prime field which promotes foreign exchange, provides employment and

solve food problem in India is

A)  Apiculture B) Pouitry

C) Aquacultu;e | | D)  Sericulture.

@bHurailey rrr,a:gg,é]d:.m(‘.?mrﬂ'mlr Crrb ereupprer sLSSUUREIDE 7

A) HuOevser palargCuiiCuiedv  B). Camllellev oierguCeofla
C) xCeamilellav snflsL av D) Gemrlellev evol uerdl,
In India, urban Malaria is transmitted by

A)  Culex quinquefasciatus B)  Anopheles annularis

C) Anopheles subpictus D) Anopheles stephensi.
Fpésr_cuppiet ahg ouems mrru;gjaqs.m.m Qsdle &8 Quppeieng 2

A)  suiE Cwdgisd s B) geomil@ o Hghad s

C) oy yeb 2 Neghad awuaoms D) Guéguss amme.

02 [I6061]
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- Type of mouthparts present in Scale insect is

A)  biting and chewing type - B}  piercing and sucking type

' C) siphoning type D) chewing type.

117.

118,

119.

pédlu @,o.sa A cuemta@d G b Gerp
A) - senaflurgwof B) grHgses

‘C)  wedTLLib D) I]HGIDG'DGUUI?D.

. Prime péarl culture centre is

H

A)  Kanniyakumari B) Tuticorin

C) 'Ma:mda_pam D) Rameshwaram.

uGSHES BTaETLED LBhE @5 sed _udm..;sm..m S0 GéHillend

A)  euGunGLringgr _ B) Qapdll&aGarGastur
. Q) lq.e'fbl_#asd'u , _D). SDF&HLT,

‘Which one of the following is considered as common sucking pesf of cotton ?

A)  Spodoptera B) Helicoverpa
C) Dysdercus D) Amsacta.

afgpé&abrL-mﬁ)m ez sflurer QempQpm it :

CA) T yesiguey ertar adlambur axglienud erthag

B)  eoulfsnGarfur e v flumisgur eugleousd sribss Sde
C)  Qstfurelé, Soerpd péoasgd gty fenorarame
D) Qauufler o QoY sL& Ceusrerfifie: o cierg.

In the following statements, which one is a correct statement ?

: A) Pluteus larva belongs to class Echinoidea

B) Bipinnaria larva does not belong to class Asteroidea '

. C) In sepia, all the arms are same in length

D) Keber’'s organ is present in sea cucumber.

xxx : - TNy [ Turn over
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120,

42

SyflQeae Syenwbgerern @Lth

A)  Sgdi premd - B)  QueQeeafldler premd

C) Qpuyren l D)  @eubpelr srﬂcqnﬁls’umm.
| Pyramids are present in | '

A)  Ureter ) l B) Duct of Belleni

C) Nephron D) None of these.

121.

grang sally whpea Gembluaourg SufiGam ublehssr sy @i

A)  sweier B) coUleneoréy Bevesflem

C) gfuGLrdsGuel l D) Goumensht.

- All are essential amino acids except

122.

123.

A) AlanlneA B) Phenyl alanine

C) Tryptophan D)} Valine.
BaCamigafié uhles Geopuriige aflanerey

A) Guf-Qudf B} gresberenn

C)  @pasesd Dl Quéersgr.
Deficiency of nicotinic acid méy result in

A)  Beri-beri B) Insﬁmnia

C)  Night blindness - D} 'Pellagra.

STTLg o QY @\Hgpi-es Qg_srn.-_ﬁqr;ml'_u.lﬁj

A)  Gaf o et o gy B) peit o et a_;pjth
C) el 2 aoont 2 puiy D) el o et o gy,
Organ of cortl is associated with '

A) Chemo receptor ) ‘B)  Olfacto receptor

. C)  Phono receptor D}  Photo receptor.

T T 16001



124. el ev Cprisares smyeasi
A)  urdedur |

(o} I QqLqudmg@

The factor responsibie for AIDS is

A) Bacteria -

C) Retrovirus

125. &pssmcdor_cubpueh arg S GLT sidbameny 7

A) ©elsareau

c - snﬂﬁ;(%mﬁu

Which of the following is called Keto sugar ?

A) Ghucose

C) Erythrc;se

B

126. eounpGartmey cusmetwid 6@

A)  gphaCsrenm cuepemb

C) SphCaimes aememud

Pyranose ring is a
A} 5 member ring

C) 6 member ring

127. Spsaca_cupper erg @Tss Seuliugm 2

A)  @eudlGanmNden
'C) iyt Gym ey
Which one is RBC ?
A) Eoslm_iphils

C) l;leuﬁophﬂé

xxx | 1603

B}

D)

B)

D)

B)

D)

B)

D)

B)

D)

B)

D)

B)

D}

B)

D)

LION

Hihens

yenellane Guorensdis aeuen.

Fungi

Tobacco mosaic virus.

AGLmen

Sy &CLme.

Ribose

Fructose.

BTDHS] cuemeTwid
w&EGaN ot uenemuid.
4 member ring

3 member ring.

GuBsmildien

erflgQrrene . ev.

.Basophils
Erythrocytes.

{ Turn over
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128.

129.

130.

131.

44

ahe Brby Qedseflar eeralld BUHast @uaarg 2

A)  weyCurert flynreérser B}  eu@umeurr By Tme e el
C)  yeliGumerntt By e aef D) gGuremt Hygrenash.
Which one of the following has no 'process in the cyton of neuron ?

A) Multipolar nf:urons B) Bipolar neurons

C) Unipolar neurons D)  Apolar neurons.

Qmr faeit Qewuduid esb LbHu WL B-amed Qansransaw sabiueurt

A)  g&evedn , | B)  Joleigqgt

C) QCaneyGaarl. | D) ewslseden-Chnedm e
Lock and key theory of enzyme action was proposed by

A) Dixon B)  Fischer

C) . Koshland | D) Michaelis-Menton.
s6fCar. g -wapyCyrghlGatan egud Qprd, el CLrarem furealer
L@Haerer SoLwreré @iire 2 erearg ? |
A) 2 efiLi_eub

B) GeeMuuLeid

C) uLehsgpsdlorCuurer @ Gl

D)  Gul A, |

Succinate dehydrogenase in mitochondria, is a marker of which region ?
A) Inner membrane B) Outer membrane

C) Intermembrane space D) Matrix.

g\l vz eaCrrigr awnsews STTHSE ?

A)  arell B) s

C) Qeuereurss , D) Sh&T (.

xxx . 16001
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133.

134.

45 LION

Of the following which one is a Chiroptera ?
A) Rat B}  Rabbit
C} Bat D) Kangaroo.

@de ag sfurel QuTESsLLL Betreng :

A)  eoapferi@iinm —_ .Q!,;bLﬂmn&a'ﬁldu

B) OsuBarsmt@iLr — 28hq webt

o)) | smtQLom — QL. Gyranioen e

D)  wGpr artGLim —  GuaGar Femmevene.

Which of the following is correctly matched ?

A) Hemichordata - Amphioxus

B) Cephalochordata —  Ascidian

C)  Chordata — Petromyzon

D)  Urochordata —_ Balanoglossus. -

wCaflum_Gadfier aps Gsud pggupriies 70s eayGurCemd é:rramﬂxu@é\u)ﬂ ?
A) e Grrameor flwr B) Jdemreugl.

C) slllents ausme D) &neg) oL e,

70s ribosome is found in which of the eukaryotic cell organelle ?

A)  Mitochondria B) Plastid

C) Endoplasmic retlculum D)  Golgi body.

Bbs gg);n’rGtmrs'm ayuli, evaBarGend qphdlu ukierHRepe:

A)  fersdlen B) mrrGerurrtSlge’ma’&é‘st

C) emgyréedan D) @ eraedle.

xxx [1603] [16001] ' | Turn over
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135.

136.

137.

Lysosdmes play an important role in the secretion of the hormone
A) Relaxin B) Vasopressin
C) Thyroxine D) Insulin.

sowCuraTigud ganessho o eder Gaaaeiear el CLraram Auraldr Guwi

A} enr&CarGenid B) Quigr&afiGempd

C) 6Cprlern D) @euppeir agieypbdvenc.
Mitochondria of myocardial muscle cells are ca)led as |

A) sarcosome . ~ B) peroxisome

C) acrosome D) none of these.

@ Nmba avlengsd Gepas 2 GauTsslLHHDY

A) @g&a‘ﬂ@mnmé&a B) Carddl o piyseh

C)  QeanACurdaer D) Qeppet agabime.
Spindle fibres are formed from

A)  Nucleolus B)  Golgi bodies

- C) Centrioles D) None of these.

Spsac_oaseiis Wpyh@id s .OsGHE Canm_renmah ez érg] ?
A) UAA | : B} UAG

C) UGA D) AUG.

Which one of the following is not a t@maﬁon codon ? ]

A) UAA B} UAG

C) UGA | D) AUG.



138.

139.

140.

47 LION

mmjdu aufBu o ursefurele @Ehe LHODTEREE geraer LIHPLLGGE
Guwrt
| A) Qloamge B} &Las60

C)  wTHDWEIL G D) GQumfl Quurtpsd.

The transfer of genes from one bacterium to another by a virus is calied

A)  conjugation . B) transduction

C) transformation . D) translation.

Spaaaocupper yBaflur: Raefler engl GLrarells enpGurGemblen Lty erg ?
A}, 80s | 463. 60s ), ( 18s rRNA, 28s rRNA, 5:8s rRNA wppid 5s rRNA )

é) 70s ( 30s, 50s ), { 16s rRNA, 23s rRNA wppid 5s rRNA )

C) 80s(30s,60s) { 16s rRNA, 23s rRNA wphgd 5s rRNA )

D) 70s(40s, 50s ), ( 18s rRNA, 28s rRNA, 5-8s rRNA wppib 5s rRNA )

Which one of the following sets of characters represents that of eukaryotic

cytosolic ribosomes ?

A) 80s(40s, 60s ), [ 18s rRNA, 28s rRNA, 5:8s rRNA and 5s rRNA )
B) 70s ( 30s, 50s ), ( 16s rRNA, 23s rRNA and 5s rRNA )

C)  80s(30s, 60s ), { 16s rRNA, 23s rRNA and 5s rRNA )

D) ?Os ( 40s, 50s ), ( 18s rRNA, 28s rRNA, 5-8s rRNA and 5s rRNA )
Qed spppillian sflurer euflars

A)  Mpewe, G, fow, S Hoe, G, How

B) Milwe, G, floe, SHown, G, Hlaew

C Miee, | G, deove, G, Poe, S Heow

D) G, Hee, S fleow, G, flow, M Hae.

1603 ' ' 16001 { Turn over
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The correct sequence of cell‘cycle is
A) M phase, G, phase, S phase, G, phase
B) M phasé, G, phase, S phase, G, phase
C) M phase, G, phase, G2 phase, S phase
D) G, phase, S phase, G, phase, M phase.
141. sfg)é:e,mbn_sw,b@aﬁ T E OUTEV (. .CT6T g 2 (heurdhs VLU TDS 7
A)  1.eredt.g. LTedwCyen B) syt.eaerg urelln@rey
C) t'_I)'rTGGTGi'\)ﬂlﬂI:I(Bl_'G?U : D) feurev Lgmesrev flOGL e,
Which one of the following is responsible for the synthesis of viral DNA ?
A)  DNA polymerase B} RNA polymerase
C) Transcriptase D)  Reverse transcriptase.

142. Qeadlle Cureeardoms GUUGUESSD s aar SPssIUGD Cad Hi

2. MmOy
A)  flyseflwey B) st G enmeruidlé QL 1g &evbd
C) Denmevwom seuey D) QGandeens 2 pilise.

‘Traffic police’ of cell is an alternative name for
A}  Nucleus : B) Endop!asfnic reticulum
C} Plasma membrane D) Golgi apparatus.
143. dleoy () erl. @eopur® sTeoluious
A} 5p” &RynCunGsmd B) 59 ®QyrGurQlemb
C)  21-qplwwbd D)  18-qpbwwbd. |
Cri'du chat syndrome is characterized by
A) 5p~ chromosome B) 59  chromosome

C)  2l-trisomy D)  18-trisomy.
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144. w6se1QeTens LYW SyiueLdée welgeatle sré]r'rasrréofo Preondidsuéng
e SahenD Snmdlweurt | | .
A) UTT@@ B) @l men
C)- - @LrhenTes v ) | D} gmrrm-cﬁs&rams.
The future of man is predicted on the l_),asis.of pﬁpulation genetics by
‘ A) Boyd B} Andrews
C) Dobzhansky D} Hardy-Weinberg.
145. aflgfGrrilenmevrelley Sireien erevg amthas 2 |
A) A QUHscuens | B) B @ussoues
C) AB @Uggmas | D} Rh srpesiael,
Erythroblastosis foetalis is related to
A) A Blood group B) B Blood group
C) AB Bllood group D)  Rh factor.
146. ursefugdle, 5s, 23s whHpid 165 it i .adr.g. G o-Gaumoug
A) | 2 QUL HET DTy B) geflurer glugmed
Q) ;Gr;rr Cormt -~ D) @enigmen.
~ In bacteria 5s. 23s and 16s rRNAs are clustered to form
A) Organizer B}  Single operon
C)} Promoter D)  Intron.
147. dleiorppéd Qaraiansaw 1901-b KGR gy HHe
| A} GuslLasd B) adfyCsr geifieu
C)  Lmlievayresevd) | D) vLmireder.
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Mutation theory was put forth by .................... in 1901.
A}  MacDougal - B)  Hugo de Vries
C) Dobzhansky , D) Darwin,

148. Seaumeusseupmyetr urés Ulenesthg Guri g ¢
Ay  gleishd B)' Guf-Guf
C) oL Cendlev , D) @eubmiet ergapdléene.

Which one is a sex linked diseése ?

A) Albinism . B) Beri-beri
C) Tylosis . D)  None of these.
149. . ganset GuamLele gaflurst Uflge allfl Qurgeurer olfurs

BmaTg eray Hepuemtd Gendlpg.
A s @ng@mrr@&rnﬂgusﬁé ghebr
B) gl Gevemioy sallid
C)  Geaupuli @GUTTGLDI’I’G&ITL&@HG]’I’EM bt
D) wpseiny gerse.
.................... proved that Mendel's law of independent assortment is not
~ universal. | |
A) Genes of same chromosome B) Linkage group genes
C)  Genes of different chromosomes D) Recombinant genes.
150. Blurdlefen perLQupid seveneu hlapencn euflansliu@pg -
A)  esamuedlen, Uamggd, 2 oLg6, &mmmn, sovenel, HanLHlanc a..@mrré:@é;
Bi Sengsen, ansarruadlen, HLTEIN, 2 L S0, GO, HLBHlaew o (HaTsHGHe
C)l enseotiierSlen, L'ilerrgﬁe'\),'amrréumrr. SR, 2 BOLHD, 5@;@@&; L@mﬂ'&@ﬁ@-
D) esammiellev, Sergse, surduor, zoLgd, sooal, GeoLbioe

2_(HEUTHGHSHE0.
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151.

152.

153.

51 LION

List out the correct order of crossing over events during meiosis :

A) Synapsis, Splitting, Break, Chiasma, Crossing over, Terminalization
» Splitting, Synapsis, Chiasma, Break, Crossing over, Terminalization
C)  Synapsis, Splitting, Chiasma, Crossing over, Break, Terminalization

D)  Synapsis, Splitting, Chiasma, Break, Crossing over, Terminalization.

umib et ellopd GDEOSUTE ..ooeerveeneee. o e_Wg.
A) flegserenn | B) anpiseiend
C)  nphOlaw D} @eupper ergeSicenc.

Poison of snake is naturally

A) acidic B)  basic

C}  neutral | D) none of these.

W EGSULES gy sTesruu®Gd G b

A)  syboothursedler Qgreaent.

B) ueGamrdlemnsfler supbgIiul e

C) ueGeamdlenrsdlar 4GyTGurdlev LEH

D) eflquailan QgraneL.

The dorsal lamina is found in the

A) pharynx of amphioxus B)  collar of balanoglossus
C)  proboscis of balanoglossus D) pharynx of ascidian.
Goér QUL P giemer WL-HD sTaULD Lo Gur( suameulla G

A) emldll B) e wruéll

- C)  urgmodL D)  &emudil.

If the supratemporal fossa alone is present, the skull type is cailed
A) anapstd ' B) diapsid

C)} parapsid D} synapsid.
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154. dpsaaa.  abpl uawy @uiusrd NMfudturby péseen  utby s
&dun__gﬂuiuu@eﬂg)a ?
A) Ssrp eullpmué Qéé\émsﬁ ‘ B) Guflu gpgiegubyé Qé@e‘;&sﬁ
C) sleLwmer eumé D) seowlé oeter ifu Gedosar.
Vipér is identified as poisonous snake by the presence of
A)  broad ventral scales | B) cnla;ged vertebral scales
C) flat tail ‘ . D) small scales on head.
155. LmirQeorifhur &5@;@_&1 eomireurr
Al flquen : B)] uaGardletrgen
C) yoSluréaen D) GablGry.
Tornarta larva is the young one of
A}  Ascidian B) Balanoglossus
C) Amphioxus o D) Lamprey.
156. SenGeanméadlu o morhobd erfléds Qurgeurssd srasuu@d ?
A) ueGearrdlerrssy B) eflqur
C)  oplursedv ‘ D) (Ba)fmﬁ’l@g.
Retrogressive metamorphosis is common in
A} Balanoglossus . : B)  Ascidian

C)  Amphioxus D)} Lamprey.

157. dpacocupper abs Getn w Qb HoupTe QUIGBSSLILL Befrerg ?

A)  Bersef — By e srofs e

" B) gy b Ble eumpealse — Casgeurt ayullsent
C)  esneuso — aretor Q\eooTil) HgLSle el
D)  urgrligsef — FCulwen ayinfiamet.
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Which one of the following is not matched correctly ?

_A) ~ Fishes — Mucous gland

: B)’ Ar;lphibia - Saccuiar gland

| C)  Reptiles —_ 0Oil gland |

:: D) Mammals — Sebaceous gland.

158. gyoflursealay sflopssd Qelug:
. A) &Lk Qadsel B) yGomiCur Gmpufiguid
C) - ww@lmbael : D) gy
In Amphioxus excretion takes place by
A)  Flame cells | B)  Protonephridium
C) Myotomes D) Kidney.
159. glienrils e acfie soursd
| A)  OQeeaer seasb B) QGsnmé seursd
C) meondyé seursid D) @euppieh agadidee. -
Dipnoi fishes are
A)  Gill breathing B)  Skin breathing
C) . Lung breathing D)  None of these.
160. Epsacn_appet aps et wCafluTara sL.EUUESS 2-goysldiper 2
A)  Seu Geoflunr B) Ganyedwr
C} | ARGy | D) egmisv.
Which one of the following fishes is used to control Malaria ?
. - A) ‘“:Fistularla - B) Gambusia
C} Remora D) - Pterois.
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161, Aeflur yupedes eflevisdlet Guwi
A) yrresaiGeay Gl Oarardle
C)  weflur Gemeshub
Guinea worm is also called as . .
A) Dracunculus medinensis
C} .Taenia solium |

162. 2CLACuUTewT CopiinTlig&sm TG

A)  gOgeaiilys g @esoras
B) wrGemm QgeNiiné gL Getoreoh
C) oL Qpaiigs @L@Gﬁ!mﬂ
D) (Ceorbigaliys sl e
Fasclola hepatica is a
A) Agenetic parasite
B) Monogenetic parasite
C) Digenetic parasite

D)  Trigenetic parasite.

B)

D)

B)

D)

ey G’mn.ﬂwsr'u' Oleuriiblg evrifle

2 dofiflur Quesrdlymreing.

Enterobius vermicularis

Wuchereria bancrofti.

163. @dlé apg 2 0N cuemiiiiés gyiqlBlur LusTUPHBLILGSDE 2

A)  OscvieL Wenset
B) wssé Hulser
C) o awogmd Auliser

D} @omre.

Artemia is used in the culture practices of

L A) Carp fishes
B) Pearl oysters
C) Edible oysters

D) Prawns.
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164. sselyes yopalesn GemuQUEBSHSD ...coovrverrrernne. & peoLCupdlps.
A} QebwPplur®, Qars wHpKd welges
B) QebuPur®, pHos, wafges whpb Cars
C) wehges wHpb GenwHurd
D} Qsdwdur®, pHens wHEKD welGe. |
Reproduction of Liver fluke takes place in
A)  sheep, mosquito and man
B) _ sheep, snail, man and mosquitb
C). .man_ and sheep
D)  sheep. snail and man.
165. weflur Cereflub aggueu SipgL e cwudadlsnpg ?
A) H ‘ B} yor
C) yemen D} weflgé.
Taenia solium lives in the small intestine of
Al Sheep B) Pigeon
C) Cat _ D) Man.
166. @eupdicr erg wrenengrd eflurglenw 2 oL @A e Dg ?
A gyeverdlay aSlibtifleming ev B) pbemsCevrev@Lmonr g Guimg Geored
C)  2éefiflur Cuidlymiug D) eeangCyriluev Qeutblgevrdlay.
Which one of the following is causing the disease elephantiasis ?
A) Ascaris lumbricoldes B) Ancylostoma duodenale

C) Wuchereria bancrofti D)  Enterobius vermicularis.
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167. Qars eufiurs urtuCu@d 9@ UQumiGLrGareudt gL Ganem
A} SenmenGomgwbd
B) Sy evuirgheven
C)  Lr&Gamllenmevom
D)  denreavifigwid.
Protozoan parasite transmitted through mosquito is
A)  Plasmodium B} Aspergillus
C) Toxoplasma D) Clostridium.
168. dpacLeubpyer erg / aeubuivand Qarsealamd ugﬂu&p@aﬂmg ?
A) Qe | _ B) euCalrélumen
C) wrenandhsra Gpml D) @;:msu SN HGIUD .
Which one of the following diseases is/are transmitted by mosquito ?
A) Malaria | B)  Filariasis
C) Elephantiasis _D) All of these,
169. @ 2 0f eueniiumes ghuBuUea |
. dled wrau@ge
. ot wrelu@sd
.  Ser Qlergens ungmndu@

V. @Gesrenr @epuu@ge.

Eleubmyef ¢
A) Tul@beflurerg B) luwpmd Il sflurereneu
C)  IVorebsfurerg D) IMlwl @b sfurerg.
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Aquaculture causes
L Soil pollution
II. Water pollution
III. Conservation of the fish population

IV. Ozone depletion.

" Of these :
A) I alone is correct B) I.an_d II are correct
C) IV alone is correct D) II alone is correct,

Ggso?émmm cuertLgbhe eTeitem Quuat 7

A)  glséet

B) LUy euerroy

C) ;ﬂ& suemrly

ﬁ) | DT&HG euemii.

The rearing of honeybee is called

A)  Apiculture B)  Sericulture
C) Tissue culture D) La;c culture.
aﬂm&@ yalldu's ugdleow o psdud Ifagsaray INseh sepos smPuart
A)  Lmtelen B) OapiidcsNeir
C) euvsmdnli D)  eumevehn.

Division of zoogeographical realms into six main regions was proposed by

A) - Darwin B)  Heilphin
Q) Scalter D} Wallace.
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172. . meordye s @née o DsssTLTer @GQWQ&ULGLWLW STeoTURD )b
A} g udfssr ‘ B) <Qufléar |
C) g evdlCredumr D) orGgpesngemr.
Neoceratodus is an example of lung fishes. It is found in
A) Africa . B) Aﬁaim
C)  Australia | D) Argentina.
173. gseuembiily ufeusuTsy ghupeug
A)  wepse B) @Qﬂﬁﬁ'\)‘
C) aﬂrﬂgsc}v ‘ D} @eonge.
Thé adaptive radiation results in |
A} disappearance B) convergence
C)  divergence D)  decline.
174. gacueninlyll LTI G6ID uTT enGanw 2 Gaurdelueut
A)  syeuufen " B)  umreder
C) emerié lD) Liansae.
The term ‘adaptive radiation’ was coined by
A)  Osborn o B) Darwin
C} Lamarck D) Haeckel.
175. uljjéh_‘gr'r STBITELID S{eMDMhEIETeT WmHleud
A) . GgIrg | B) &fprL&m
C) aubfyudyCgeid D) 2 &dpu SliiGaeb.
Bandipur Sanctuary is situated in the state of
A)  Gujarat B} Karnataka

C) Andhra Pradesh D) Uttar Pradesh.
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177.

178.
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&\pé s edor_euppye @chcqméﬁé: @mha a@g‘_@cﬁlr_n_ alleviug eTg 2

A)  smbsm gy ey e B)  Guerpgym umiLev

C) . eonQerélgren D) edlrev Guéedhoen.

Which one of the following is an extinct animal ? |

A)  Saiga antelope B)  Panthera pardus |

C) Rhinoceros D)  Elephas maximus.
syiuure wsdldler ugaud wenp agbG G TRSHHSTLE

A)  a&meunr LTS LET UTeus B) Qanm.rédlupp uyeus

C) QB®mEmeu Uy D) gafleowluBsstul L e,
Cockroach stands as an exampie for

AA) Cosmopolitan distribution - B) Discontinuous distribution
C)  Bipolar distrlbutioh D) Isolated distribution.
aréHLev S Psgmalad Gupgysiearane

A)  Quflw Crprer G B) @LOLWTEN LHDIITE S0G
C) . HemDre cuemeThs i D) Quédu femorear .
Cactus finches are having

A) ' stout and straight beak B)  short thick beak

C)  long curved beak D)  slender long beak.
ebgadidar g sdrowaou SguUMLLTES Qarean(d, L:Q)E,lb aHgener ool
ugdleemral Ifsstu_Bererg 1

A) 4 B) 3

C) | 6 D) 5.

Depending upon the likeness of the fauna, the world has been separated into

how many faunal regions ?
A) 4 ‘ By 3

C) 6 D) 5.
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£Cyp 2 6irer Qurcidaefléd BalGuflugid, Qgefairer aomasss PN T& 7
A  gfluc_é Qb _ B) Guelsyréns Qyeld
C) aspdCurifuey Qigéin D} e eudlCrallue Giydub.

Which one of the following realms is biggest but without distinct boundaries ?

_A) Oriental realm B) Palaearctic realm

181.

C) Ethiopian realm D}  Australian realm,
yelg sefawiL@sssdie GuEbuiE Qupb e S, H&D

A)  o@CerCuids Ger o6 B)  @eureiLi> @ oybeh

0 GuyrCuifé @ar i ssb D) SnCulfls Qe o éab.

182.

183.

Geographic isolation plays a major role in

A)  Allopatric spéclation ' B) Quantum speciation

C) Parapatric speciation D)  Sympatric speciation.

T o R gt @GPl sTEIILED G® STarssLT Hdwg ol st
H5H3s sTaETLLRSO

A)  SOULLGS SgUsFetiD B) Gulgdluet igusramd

C) aliGafs sgneyeomd | D) Qawmlqsd HeEUsHeoID. |

If an organism resembles a plant or an animal in the environmer—xt is called
A) Apatetic mimicry X B) Batesian mimicry

C) Epigamic mimicry |9]] Sep-iatic mimicry.

e Aracliar ppe Ssrbipsdle Qu@vaey ghpsLsTe @ o

A  gurfiar afigl B) arenQurCsmls aild

C) goulurgeiifles ald D}  @eaubnet agoifidee.

The most accepted origin of life theory is

A) Theory of Oparin B) Cosmozoic Theory

C) Theory of Abiogenesis D) none of these.
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wefgs et weea Carardu sreid

A)  GueiGurden | B) JeflenBLrden

C) :. spedCamdein | D) | B\ Qur st

Maﬁ originated in the period of

A) Palaeocene B)  Pleistocene

C)  Oligocene D)  Miocene.

DDT g s seralé ums&ru@&ﬂmgn@ DDT-gp griid) susrfgéaaj.q.m Q& & efler
aamaisans QuEdlallLg. sLbg ErhDT Loﬁé,]uﬁla’: Nesgopbs Syeralé
Bebs Oaresaeflen ermcobﬁé,ma:, Gpdurele phHGurgy SPswrdallg.
@issmaw Gipade 2 earer Catey ergl 7 '

A) emorisdlussy Caiey B) @Qupee Gg,ri'q

C) gevrligst Cptey D} GQesupes G‘g,d'q.

With the increaslng'use of DDT the number of DDT resistant mosquitoes has
increased to a great extent. In the middle 61' the present century, their number

was msigniﬂcant but now they constitute the major portion of the mosquito

population in India. The type of selection operating in this situation is

A) Lamarckian selection B)  Natural selection

C) Disruptive selection D)  Artificial selection.

Cambphles gogeien Qubemsurer Glarsblpreams, @mu@u@amu} Qeilyd Hoeflé
@ ®ha peflewL@BstLL L e @icuaumg SIE0P&&LILHID

A) urdlen 196 Sipblend B) gieveor SHpdlemd

C)  Ausiiu Apleord | D) #&Cemeié Apfeoid.
Morphologically identical natural populations that are reproductively isolated
are called . '

A) -polyty'pic species ‘ B)  sub-species

C) sibling species D}  ecotypic 'species.
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187, sfls pevems 2 aniw 9@ Qurmper &eafis peteow 2.eLwg Curd smligs

ClamaicughE Cluwi
A)  Curelgsatawyew urrﬂe'u B) Gadliwe urdé
C) pimasiu urfleé o D) Gafhflwer smbm urélen.
Objects of inorganic origin closely resembling organic origin are referred to as
A)  pseudo-fossils | " B) chemical fossils
C}  micro-fossils .D) non-chemical fossils.
188. @ﬁﬂlﬁli.@ Qeroamsmgw o Lflanmoaiue Suies T
- A)  Gamése . ; B}  dlyusv
C) QGumusrerevd D) GLb.
Who is the dfstinguishﬁd evolutionist ?
A) Heckel B) Krebs
C) Dobzhansky D} | Odum.
189, @) yeveng L B)eoThig sl @(ﬁg wrdlfiurer @)L gl @@ﬁiﬁg‘ .
A)  HbCulié B) &Gmrr'@gl'_rﬂé:
C)  goew Apflams D) Aol Apder.

Two or more species occupying identical areas are known as

A) sympatric B) allopatric
C)  sub-species ‘ D)  sibling species.

190. @My wibmd QL Slidbsedt Carganmr QIOITHEIEBT ....ccvcrwveriunn Qs meiren e
udefsdpg:. ' -

A) o dflerhiseen o_eiGo s | :
B) @pheeautiue whpd yHu Caeneus e
C) vwgumbd whpb vwerhp CHmiur®

D} QuplulL seomeunser brlurssiLBss.
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Experiment of Griffith and Detleofson supports ................... principle of
Lamarck. |

A)  Internal urg?: of organism

B) Environment and new needs

C) Use and disuse theory

D) Inheritance of acquired characters.

191. efluran QurEhHusier spULp LTy CaibOEM

A} QuTel e meuTdslu@aigiddame — EUITLY LOGITL Guid
2Plésiu@augibéame
B)  eumy sengsdluh ' — e wil yealGauPl Qur@elr s pHA
C)  Quibes seflohssiear spp — b
D) $igé Hleeselr — Gphlee ehesar.

Which one of the following characters in the environment is correctly matched ?

A) Matter neither created nor destroyed — Atmosphere

B)  Reservoir of gases — Biogeochemical cycle
C)  Pathway brings circulation of elements  — Earth

b) Seral of stages — Ecological succession,

192. Sereu@areubiiés sfurst QUIGHETSS a& 2
| A) Quirkwreitey allg) — sflsorer @it uegdle - awdaed
ebdlamsdsr Qo Oprafeoer  all
Guflgrs sremlL@D
B) syeveitev afid — et wgHde eomrgd  Nevdugselisn
- | 2. PO ST GLOLWLNTE B)HSHED
' C). CgpmirLesteny el — @g@m@j&qmeﬂs&r o o1 GOV W
Qeutiuflere HLQLUUBS G TDET.
ﬁ) GCarQigten ald —_ Qaiy ueddée  seer o dflase
Guiflueneu gyemmér fiflu & Qs EseL L.
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Which one of the following is wrongly matched ?

A)

B)

C}

D)

Bergman's rule -

Allen’'s rule —

- Jordan's rule —_

Gloger's rule : —

193. Camgussany a ater G\Lb

A)

C)

Sibplorer Soy

sEneToylt

Point Calimere is situated in

A)

<)

Andaman islands

Tanjore

Species in colder region are larger than

warmer region

Extremities of animals are shorter in cooler

parts

Temperature controls the numbers of

certain vertebrae species

Warmer zones inhabit large sized and short

structured animals.

B) f&Gsrurt oy
D)  Fwddfl.

B} Nicobar islands

D)  Nilgiri.

194. gpblenes waotcob ergud GUWT WITTE 2 (heuTdbHULL LG ?

A)
C)

91..&)

atOarav® Canssd

The term ‘ecosystem’ wé\_s coined by

A)

C)

Odum

Ernst Haeckel

195. urgeroy ereTug

A)
B)
C)

D)

xxx 1603

B) Qi
D) Lrendled.
B)  Reiter

D) Tansley.

Qubens auentismeaner sflurs vudTURS GBS

Qubens cuerhisenen shHardse

Qupens cuerhiseanen Hiteudliac

Blubes cuerhisener ghendgl, sflures LweaLuPSE suheop Hitcudlsse.
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Conservation means

A)  proper usage of natural resources
B)  protection of natural resources

Q) | management of natural resources

D) p‘rotectloxi, proper usage and management of natural resources.

196. gGemen lanors ebg prenet sl iy &fldarGpmd 7
a gerauf, 30 B) glyé, 21
C) .QsalLbut, 16 D) gesout, 25.
‘onne day’ is celebrated on

| A} lJanuary 30 - B) Aprilr 21

C) September 16 D) December .25'

197. @® Qe sOgraadlsar SysE weeft cugeausdle SmbaTd, Sips Ba1SbBTans
A) Heoewrerng B)  aenthy Qercny@GeSlpg
C) Gophg Qenrdgesdipg D) @epul Curgb Hleeligieieng.
If the pyramid of population is bell-shaped, the pqpulatl'on is
A)  stable B)  growing
C)  declining D) about ta decline,

198. o« dfluerflen Qentéan e s Psaiu@oug g 7
A)  wérermi suemengLT e llfGamer UrFSTLLSD
B) dedif Lﬂt’f@&r_rﬂ UT GISTLLSID
C) ACr H&Carur e fifCarer uTgIsTULSD
D) mberCpel e litGamer uTgsTILISD.
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Which one is commonly considered as a bioclogists’ paradise ?

A) Bulf of Mannar Biosphere Reserve

B)  Nilgiri Biosphere Reserve

C) Great Nicobar Biosphere Reserve

D) Nanda Devi Biosphere Reserve.
199. @eornb Hlevew wIre - 2 Fryesd
A) eoapliyged q@sﬂrrsu;q@
- C)  eoplygd QuipTéeen’
Example for secondary pollutants is
A) Hydrogen fluoride
C) Nitrogen peroxide-
200. gy paLd aflekigser Qurj)gjeftmw)m

A} andlurer agibser

B) OGuinréed sl d eplCyl

D) eapLiygpen saau(p.

B) Peroxyacetyl nitrate

D)} Hydrogen sulphide.

B Gudadugrs e L@é\ursm erguubLys&it

C) sradlud sdlapeien aeanbser
D) araélub ders agufoqasﬁ.
Deep sea animals are having

" A) strong bones'

C) bones with more calcium

B} slender but strong bones

D) non-calcareous bones.
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Booklet Series C | iig r:f;i: |
2010
ZOOLOGY
Time Allowed : 3 Howrs | ' - { Maximum Marks : 300

Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS
1. This Booklet has a cover { this page )} which should not be opened till the invigilator gives signal to
open it at the commencement of the examination. As soon as the signal is recelved you should tear
the right side of the booklet cover carcfully to open the booklet. Then proceed to answer the
questions.
2. This Question Bookiet contalns 200 questions.

Answer all questions, All questions carry equal marks.

The Test Booklet is printed in_four series e.g. or EJ] (See Top left side of this page).
The candidate has to indicate In the space provided in the Answer Sheet the. series of the booklet,
For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black Ink Ball peint pen as follows

[A]Il B (ci(D]

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

6. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided.
falling which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A), (B}, (C) and {D}. You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you constder the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
In the Answer Sheet.

9. In the Answer Sheet there arc four brackets | AJ( B |{ C | and | D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
cach question. Select one response for each question in the Question Booklet and mark in the
Answer Sheet. If you mark more than one answer for one question, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows :

(aj i (c1(D]

10. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.
After the examination ts concluded, you must hand over your Answer Sheet to the Invigilator. You
are allowed to take the Question Booklet with you only after the Examination is over.

11. Failure to comply with any of the above instructions wili render you liable to such action or penalty
as the Comunission may decide at their discretion.

12.  In all matters and in case’ of doubt. the English Version is final.
13. Do not tick-mark or mark the answers in the Question Bookiet.

w
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